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DO NOT OPEN THIS BOOKLET UNTIL INSTRUCTED TO DO SO

» All questions are compulsory.

» Read the instructions on the ANSWER SHEET and fill in your NAME, CLASS and
OTHER INFORMATION.

» To mark your choice of answer, darkening the circles in the ANSWER SHEET, use an
HB PENCIL only.

» You MUST record your answers on the ANSWER SHEET only.

» There are 30 MULTIPLE CHOICE QUESTIONS. Each question carries one mark.
Use the information provided to choose the BEST possible answer among the four
options. On your ANSWER SHEET darken the circle that matches your answer.

> Marks are NOT deducted for incorrect answers.
» Return the ANSWER SHEET to the invigilator at the end of the examination.

» You are NOT allowed to use a calculator. You may use a ruler and spare paper for

rough work.
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This question paper contains a total of 30 questions divided into two sections: A and B.
Attempt all questions. Each question carries 1 mark.

/ Section A (Skills Based) /

1. Select the correct word to replace the highlighted jumbled word.

| like to TAINP.
(A) Panit (B) Napit
(C) Tniap (D) Paint

2. Look at the picture. Choose the word that rhymes with the name of the picture.

(A) Jar (B) Fire
(C) Hair (D) Fair

3. Identify the name of the object that is NOT visible in the picture.

(A) Board (B) Clock
(C) Flower (D) Pencil

4. After the workshop, he painted the canvas with a

(A) Paintbrush (B) Paintball
(C) Toothbrush (D) Hairbrush

A
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5. Which of these is NOT made by combining the word ‘book’ with another word?
(A) bookie (B) bookworm
(C) bookmaker (D) bookbinder

6. Which of the following does NOT rhyme with the word ‘trees’?
(A) mouse (B) crease

(C) freeze (D) cheese

7. Which of these is the incorrect name for a horse’s baby?
(A) foal (B) fawn
(C) both AandB (D) colt

8. Select the option that CANNOT be an opposite word for the word ‘loyal’.
(A) faithful (B) disloyal
(C) unfaithful (D) untrue

9. Which of these gives you a haircut?
(A) firefighter (B) plumber
(C) barber (D) accountant

10. What is ‘a group of flowers’ called?
(A) bouguet (B) garden
(C) park (D) forest

11. Choose the correct singular noun for the word ‘children’.
(A) child (B) childe
(C) childer (D) childr

12. Change the gender of the highlighted word in the sentence.

Ms Rita has two daughters.
(A) brothers (B) sons
(C) boys (D) men
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13. Look at the picture. Choose the correct adjective to be used with the picture.

(A) cloudy (B) stormy
(C) starry (D) sunny

14. Look at the picture. Choose the appropriate article to fill in the blank.

Red Fort
(A) an (B) a
(C) the (D) no article

15. Choose the option that is NOT a verb.
(A) lock (B) mock
(C) jock (D) knock

16. Match the words with the correct pictures.

Column | Column Il

(p) Vase (i) 6

(a) Axe (ii)
(r) Watch (iii) —

(s) Ring (iv)
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17.

18.

19.

20.

21.

22.

(A)  (p)=>(iv), (a)=>(iii), (r)=>(ii), (s)=>(i)
(B) (p)=>(i), (a)=>(ii), (r)=>(iii), (s)=>(iv)
(C) (p)=>(iii), (@)=>(iv), (r)=>(i), (s)->(ii)
(D) (p)=>(i), (a)=>(ii), (r)=>(i), (s)=>(iv)

Which of these is the correct name for a kangaroo’s baby?

(A) puppy (B) calf

(C) joey (D) doe

If honesty is desirable, treachery is

(A) unimaginable (B) unthankful
(C) unbelievable (D) undesirable
If you want to eat sweets after dinner at a restaurant, you order
(A) desserts (B) desert

(C) dish art (D) dandruff
Your father’s nephew is your

(A) mother (B) cousin

(C) aunt (D) niece

Which of these is the opposite gender of this picture?

(A) priest (B) nun
(C) priestess (D) monk

Read the sentence. Choose the adjective from the given options.
My father bought a bunch of white roses.

(A) father (B) white

(C) bunch (D) roses
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23. Our father tells us that we must work hard to achieve goals that we set
for ourselves.
(A) a (B) an
(C) the (D) none of these

24. When you and other players play exceedingly well in a cricket match, your team
the match.

(A) grins (B) wins
(C) rinse (D) pins
25. Aarav has gone on a picnic with his family. His mother has asked him not to touch the

food basket. She has told Aarav that they will sit together and eat when everyone is
hungry. But Aarav takes a packet of chips when no one is watching him.

Which of these words doesn’t fit here?

(A) basket (B) Aarav
(C) chips (D) park
/ Section B (Competency Based) /

26. Maria and Ananya smile when they each other.

(A) saw (B) seen

(C) seeing (D) see
27. When | felt thirsty, | a glass of cold water.

(A) drink (B) drank

(C) drunk (D) drinking

A
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28. Which of the following dates is written correctly?
(A) December 31 2022 (B) December 31 20,22
(C) December, 31 2022 (D) December 31, 2022

Look at the picture and answer the questions.

The Tortoise and the Hare

29. The tortoise walked slowly
(A) and with a lot of difficulty
(B) but without any break
(C) taking several breaks on his way

(D) dancing, singing and enjoying the cool breeze

30. Why did the hare always boast?
(A) As he was proud of his looks
(B) As he thought he could run very fast
(C) As he was very popular among his friends

(D) As he came from a very rich family
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